D1visION: LARGER NUMBERS (H - SET 1)
DIVISION WITH -10 TO 10

Name:

Time:

Score:

20 3852 + (—9) =

122 2362 + 2 =

) —32076 = 8 =

2 8042 + (—1) =

2 —33614 + 7 =

) 68949 + (—9) =
21 48488 + (—8) =
2 G4442 = 7 =

20 —14742 + (=2) =

15010566 + 2 =

Mathematics: Division - Level 4 - Horizontal - Set 1

131)

132)

133)

134)

135)

136)

137)

138)

139)

140)

45910 + (—10) =

—6293 + 7 =
—21602 + 7 =
—1970 + 10 =
—65736 + (—8)
—15708 = (—2)
20017 =7 =
86030 + 10 =
—62008 +~ &8 =

28548 + 9 =
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